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ACCOUNTANCY
Notes for Class 12th
(Useful for Section-A & B)

Q1.When interest on capital and interest on drawing is to be accounted in partnership firm?
‘-Only if it is mentioned in the partnership deed.

Q2.What is the interest rate that is charged on partner’s loan, if not given in question?

-6% interest rate

Q3.How many types of capital accounts are there?

-2 types-Fixed capital account (r{;thod & Fluctuating capital account method.
Q4.When curfént account is to be prepared?

-When capital account is prepared by fixed capital accqunt method
QS.On_;Nhigh balances interest on capital is cr}arged?
-On the opening balance of capital account

Q6.What is profit and loss appropriation account?

Q9.What is the minimum and maximum ﬁ%\ber

-A written é gemént between the partners is called partnership deed. It can be written or oral.
Q12.Whatis g;odwill?

-Goodwill is an intangible asset which shows the reputation of the firm in the market.

Q13. What is super profit?

-The excess of average profit over the expected profit is called super profit.




: Q14.What is weighted aveArage‘ profit?

' ~ -Average profit after assigning weight to prdﬁt of différén.t"yegr-_s; i S
- Q15.What is capitalised profit?
~-Capitalised profit means capitalised value of average profit on the basis of expected r_afe of return.

Q16:What is reconstruction of the partnership firm?

-Change in .partn‘érship‘»due to many reasons is called réconstruction of paft‘n‘ership firm.
Qi7,State two rights of new partner?
-Right oﬁ ‘firm’s assets
-To gef share in profit
‘Q18.IMP— What is rbe\‘l'aluaﬁon account?

-An account which is prepared at the time of reconstruction of the
decrease in the assets/liabilities of the firm. This-account is also

- Q19.What is gain ratio?
-Gain ratio=New ;share‘ —old share, when _share of
Q20.What is sacrifice ratio?

-Sacrifice ratio=0ld share — new share, when sha
sacrifice ratio

Q21.Why new partner is admitted?

-To bring additional capital and

usiness loan 3)in instélmen,ts‘4)vbya';a\nnuity system -
d24. What are the modes of dissolution of partnervs‘hi;-:»:? -

-Normal dissolution/ dissolution wit out court interference

-Dissolution by court |

-Q25.What is dissolution _of firm?

-Business of the firm is Clos_ed down and_with that it_S Iegévlw_exls‘ﬂt"‘éncev also ends, called”as dissolﬁﬁon of firm.

Q26.What is‘voluntary dissolution?
N § :




e

-When all partners agree to dissolve the partnership firm, they can dissolve it any time, called as voluntary
dissolution.

Q27.Which»Company prohi‘bits any ibvitation to general public té subscribe any securities of the company?
-private company |
‘Q28.No. of members in companies?

-Public company- minimum-7 members & maximum no limit
-Private company-minimum-2 members & maximum 200 members
Q29. Which shares carry mbre risks?

-Equity shares

Q30.How many types of shares are therg?

-2 types- Equity sh‘arevs. ér;d preference shares
Q31.What is share and sharc-% capital?

-Capital which can be divided into transferable small deno
amount is collected it is called as share capital.

er name of capital employed?

-Net assets
Q38.What is the other name of efficiency ratios?

-Activity ratios

- Q39.Full forms of IPO and FPO

-IPO-Initial public offer & FPO-Follow on public offer




' _"Q40 What |s debenture?>

raise money from publlc by |ssumg securltles mstead of borrowmg Ioan from the bank that
security is called_as debenture. - ; :

_ Q41;Unused balance_ of share ,fo'rfeitu‘re is transferred to whi'd':h‘accod_nt?
-Capital reserve Account

Q42.Minimum Subscription that the company should rece'ive'at the time of issue of debentures?

-90% o
Q43.Discodnt given on issue of debentures is debited to which a‘ccdunt?

-Discount on debentures A/c

* Q44.Premium called on issue of debentures is credited to wh‘it‘.ﬁhs.ac(-".‘ou‘nt?
-Securities Premium Reserve A/c |
0;45 Who is debenture holder? ‘

-Person who has bought the secuntles issued by the comp
debenture holder.

3

ising the money is called as

“Q46.Types of debentures?

-As per Security-Secured and unsec.ured‘de'ben-tu o5 -

-Comparatlve statements %ggltx e hay tlve balance sheet and comparatnve prof' t and loss account. The
comparison of twoyears data j; cameggg%t to know the growth of business.

-Comparison of financial statements of different years is horizontal analysns lt is done for long term plan and to
know the current trend. This is also called as time series analy5|s

QSO What is ratio?

-The relatlonshlp between two or more accountmg flgures expressed mathematlcally called as ratlo

-Q51.What is indicated by liquidity ratios?

]




-It shows the ability of the business to pay its short term liabilities.

Q52.At the timé of finding trade receivables, should BDR(bad debt reserve) be deducted?
-No, BDR not to be deducted .

Q53.What is cash flow?

-It means receipt & payment of cash and cash equivalent.

Q54.What is cash & cash equivalent?

-Cash on hand, bank balance, highly liquid short term investments, quickly saleable investm
securities.

Q55,What is operating activities and its examples?

-t means main activities of business to earn income. E.g.Salary, wages, payments t
sales distribution expenses, advertisement expenses, etc. '

Q56. What is financing activities and its examples?

-Activities due to which size of owners capital and borrowed
preference share, issue of dividend, loan from bank, equit

Q57. What is investing activities and its examples?’

» given, etc.
Q58.What is cash flow statement?

-It provides information about g .&gration
It is expressed as cash inflow orf%ésh outflow.
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Q1. What is pro-rata aliotment of shares?

Ans. When shares are allotted against the share application, in face or in some proportion or no share allotted then it is known as prorate
allotment of share

In this situation, excess amount received at the time of application will be credited to share allotment A/c and if amount is still in excess, then
it will be credited to share calls and then remaining amount is returned to applicant,

Q2. Write a short note on calls-in-arrears, g
Ans. When company makes calls for allotment money or call money and if some shareholder fails to pay such money on due date, such unpaid
amount is known as ‘calls in arrears’ amount. There are two methods to deal with accounting effect of calls in arrears.

{i) Without opening calls in arrears account: When company calls for instalment amount on any call, then the actual amount received from the
shareholders is debited to bank account and is credited to relevant call account. When unpaid amount is received from shareholder in future,
the bank account is debited and the relevant call account is credited.

{ii) By opening calls in arrears account: Under this method, ‘calls in arrears’ account is opened. Any amount received from shareholders against
any call is debited to bank account and amount which is not received from shareholders is debited to calls in arrears account,

On a latter date when the arrears amount on call is received, bank account is debited and calls in arrears account is credited. So, at the end
calls in arrears account is closed.

Q3. What is meant by calls-in~advance? State the provisions of it under Companies Act.

Ans. i there is provision in the Articles of Association, 2 company can receive in advance a part or whole of the uncalled amount. Since the
uncalled amount is received by company in advarnce from shareholders, the same is eredited to ‘calls-in-advance' account. Calls-in-advance is
not share capital of the company, hence dividend can not be given on it.

It is compulsory to pay interest on calls-in-advance amount, uptil it is settled against the call is due for payment. On pre-decided rate specified
in articles of the company. If articles of the company is silent on this matter, interest is payable 12% p.a. (maximum),

The interest on calls-in-advance is payable compulsorily even if there is no profit.

Q4. The amount of securities premium reserve may be used only for the following purposes:

{1) In writting off the preliminary expenses of the company.

{2) For writting off the expenses, commission or discount aHowed on issue of shares or debentures of the company
(3) For issuing fully paid bonus shares to the shareholders of the company.

{4) For providing the premium payable on redemption of redeemable preference share

(5) For buy back of its own shares.
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- STATISTICS
a Notes for Class 12th
| (Useful for Section-A & B)

Q1. Define Independent events.

-A & B are any 2 events of a finite sample space U. Probability of occurrence of event A does not affect the
probability of occurrence of event B. P(A/B)=P(A) and P(B/A)=P(B) are mutually independent events.

Q2.Random Experiment- Experiments occurred under identical conditions and we know all possible outcomes but
which outcome will appear is not predictable.

Q3. Equi-probable events- When chances of occurrence of two events A & B are equal and every event is equally
important. '

Q4. Impossible event- Event which never occurs, denoted by [..] or @.

Q5. Define Bernouli Trials.

i repeated n
ach trial is constant,

4

then such trial is» called bernouli trials.
Q6. Define discrete random variable.

-A random variable X which is capable of taking any real v | bset is called a discrete random
’ ; N
variable. : '

Q6. Define continuous random variable.

Q11.What is the probability that a continuous random variable takes definite value?

-The probability that a continuous random variable takes definite value is 0.

Q12. True/false-‘standard score is independent of unit of measurement’




True , | , : .. ,‘ o ) ’ - / oo
Q13.Which value of normél'var-iabled»iv‘idé:s. the areé of_-nérmal curve ivnAZ equal pa&s?
_-X=p of normal variable divid_es the aré%a of normal curve in 2 E,dual barts. BT , : ‘ ’ -
‘Q14. Define probébility densjty fuﬁction of'c'bntinuous»randOm ivariabl‘e.

-A function for obtairiing probability that a continuous random variable assumes value between specified intervals is
called probability density function of continuous random variable ' '

Q15.Define standard‘hor'malyvariable. ‘ ' _— .

called standard normal variable.
Q16.Define neighbourhood.
-In'a€R, any open interval containing ‘a’ is called a neighbourhood of ‘a’
Q17.Define & neighbourhood of a. |

-If a€R and § is a non-negative real number then'th'e open in
Q18.What is interval?

-A set of real numbers betweén any twb real numb
Q19.Explain the meaning-of x->a.

-If the value of \iariablg x is brought very closé;

[

said that x tends to a, denoted by x->a.,

Q20. Explain the meaning of x>0

Q23.What is
-The change in cost due to small change in production is called marginal revenue.
Q24.Define index number.

-The % éﬁange in the value of a variable associated with'ahy item for the current period ¢Omparéd toitsvalueina
base period is called an index number. Denoted by I=p1/p0 *100 ‘ ' '




<t

-~

Q25.How many methods ére there for selecting base yeaf?

-2 met;ods- Fixed base and chain base

QZG.How many methods are there to ass‘ign explicit weights?

-2 methods-Method of total expenditure and Method of family budget.
Q27.how many types of weight are there?

-2 types-Implicit weight and Explicit weight.

Q28.What is implicit weight?

-It’s an indirect method of assigning weight. Weight is given according the number of v:

Q29.Whatis an explicit weight?

g

-It’s a direct method of assigning weight. Weights are expressed numerically in propo io

Q30.Which method is more suitable for comparing price at different ti

-Relative method
Q31.What is base year?

-When the changes in the price of an item are com;
as called base year.

Q32.Index number to find dearness allowance?

-Cost of living index number.

-Weighted average.
Q34.What is correlation? |

%ﬁ%% v
-Simultaneous change'ip.the
i

correlation?

- The change in value of 2 correlated variables is in opposite direction. ,QJ - q&‘%l@ ;nW\L?( ((q}t (ﬁtm‘pghm .

Q37.What is correlation coefficient?
-The nqmerical measure showing strength of linear correlation between 2 variables is called correlation coefficient.

Q38.Methods to find linear correlation?




-3 methods-Scatter diagram (when.only type of correlation to be found), karl pearson (best method to ﬁnd ’r'
Spearman’s rank (for finding ‘r between qualitative varlable developed by Charles Spearman)

Q39.0ther names of karl pearson method?
-Pearson correlation coefficient, product moment coefficient.
Q40,Methdds of fitting regression}ﬁ'ﬁe?"

-2 methods-Method of Scatter diagram, Method of least square (best method to find ‘b’=Y=a+bx) ¢

Q41 Define linear regression.

straight line, called linear regression.

Q42.Define regression coefficient.

'%-"The' ‘b’ in"Y=a+bx is regression coefficient. ‘b’ shows the increase/decrea
Q43.What is a and b in"Y=a+bx,

-‘b’=regression coefficient=slop of regfession line
-a=intercept of regression line=constant.
Q44.What is a time series?

-If the vdate collected to study the matters of business and industridi interest is based on time called time series.

Q45. What is meant by analysis of time series

-The method of drawing inferences on: ,
Q46. What is cyclical component?

-In a time series during mogsith r regular fluctuations takes place, called as cyclical component.

_Disadvantages

: If period as not correct then trend values also
e Easy calculation . 1 not correct. :
e Easy to understand ' * Cannot be found for beginning and end years

® Not a proper equation for forecasting.

T




Q49.Advantages and disadvantages of Least square method.

t4

Advantages Disadvantages

¢ Mathematically more conceptual More calculative

e More accurate then graphical method More difficult than graphical method.

¢ Find trend for all years If there is no linear trend, this method of no use
s Easy to obtain trend by using equation Reliability is less if the data is not used properly

Q50.What is estimating method.

_linear trend of time series based on mathematical method is an estimating method




Q1.What is mean by price relative? (Exe. que.)
Ans. The ratio of change in value of variable quantity at two points of time is known as price relative.

Q2.What is mean by chain base index number?
Ans. For to construct index number of current year preceding year is taken as base year is called chain base index number.

Q3. "0il price index number is 500" whether this statement is true or false?
Ans, This statement is false, "Oil price index number is 500."

Q4.State the charactristics of an index number.
Ans.- It is independent of units of measurement
-It compares the situation prevailing at two different points of time by means of ratio.
-Index number is relative measure expressing % change
-It is an average measure.
" Q5. What is mean by Quantity Index number.
Ans. The relative percentage change in quantity of each i item at two different points of time is called quantity index number.,

Q6. Why Fisher's index number is called an ideal index number?
Ans. Following are the reasons for ideal index number. ‘
~In the costruction of index number takes into account the price and quantities of both, the base year as well as the current year.
-Index number satisfies both, the reversal test and factor reversal test.
-1t is defined as the geometric mean which is considered to be the best average for the index number.
-{t is not biased because it balances the drawbacks of laspeyre's and paasche’s index number.

Q7. What can be said about the correlation between the annual import of crude oil and the number of marriages during the same time period?
Ans. Spurious correlation .

Q8. If the value of n{n-1) is six times the value of Ed? then what is the value of 17 (Exe. que.)
Ans, The value of r = 0.

Q9. What wili be the sign of r if the value of the covariance is negative ?
Ans. The sign correlation coefficient r is negative.

Q10. Define Scatter Diagram
Ans, Taking the values of variable x along the x axis and the corresponding values of variable y along the y axis with appropriate scate and
pIott.mg sample values (x4, Y2), (X2 Y2), (X3 ¥3) (Y) by respective points on the graph paper, a diagram obtained is known as scatter dlagram

Qit. What is spunous correlation ?

Ans. When between two variables there is not cause and effect re]atxonshxp even though correlation coefficient r value is nearer to 1. Eg.May
be correlation coefficient of variables marks of the students in statistic and height of the students is nearer to 1, but in relaity there is not any
cause and effect relation among two variables. So, such relationship is called spurious correlation.

Q12. State the Linear Regression model.

Ans. i dependent variable y is represented as a linear func- tion of independent variable x by some lmear equation, then that linear equation
is known as linear regression. Model it is also known as regreesion line.

y=a+ Bx+u

Where

y = Dependent variable a = Constant

x = Independent variable B = Constant

u = distrurbence variable

Q13. What is an error in context with a regression line?
Ans. The difference between the observed value y and the etimated veluey, of dependent variable y is known as error. denoted by: ‘¢, esy-§

Q14. The regression coefficient is independent of which transformation ?
Ans. The regression coefficient is independent of changes of origin.

Q15. The regression coeefficient is not independent of which transformation ?
_Ans. The regression coeffi. is independent of changes of origin but not of change of scale.

Q16. What is the value of error if a sample point is on
the fitted line?
Ans. If all points in a scatter diagram are orne line only then error will be zero.

Q17, What is the notation to show the cyclical component of the time series?
Ans. Cyclical fluctuation is denoted by Ct

Q8. Explain the meaning of moving average.
Ans. The average of short term fluctuations should be considered of time series is called moving average method.

Q19. Describe the graphical method to measaure trend,

Ans. Suppose (y, t 1, 2,.. n} is a time series and n terms of the series are yy, Y2 y respectively. Taking the time t on X-axis and the term y, of the
time series on Y axis, the point (1, y), 2, y2) (n, y) are plotted on the graph paper. Than points are joined by line segments. The graph so obtain
is called the graph of the time series.




e igoers

Q20. Define conditional probability.
Ans. Suppose U is a finite sample space and A and B are any two events in it, The probability of occurrence of event B under the condition that A
occurs is called the conditional probability, .

pE/4)= PCANR)
RR)

PA/B)= p(NOR) _ ‘ ) .

I
PCR)

Q21. Interpret P(A/B) and P(B/A).

Ans. P(A/B): Under the condition event B hag

oceurred if event A will occure then that event A is called the conditional event. It is denoted by the symbol of A/B.

(ii) P(B/A): Under the condition event A has occurred if event-B occur then that event B is

called the conditional event. It is denoted b .

the symbol of B/A. .

Q22. Equi-probable Events: If there is no apparent reason to believe that out of one or more events of a random experiment, any one event is
more or less likely to occure than other events, then those events are called equiprobable events.

Q23. Probability (Mathematical definition) : Suppose is a sample space of a random experiment and the total number of exhaustive, mutually
exclusive and equi-probable elementary outcomes of it are n. If m (0 < m<n) outcomes out of n outcomes are favourable to the occurrence of an
event A the, the probability of the event A is defined as m If we denote the probability of event A by the symbol P(A) =m/n

Q24. State the assumptions of mathematical definition of probability.

Ans, The assumptions of the mathematical definition are as follows:
- The number of outcomes in the sample space

of the random experiment is finite,
- The numher of autcomes in the sample space of the random experiment is known.
~ The outcomes in the sample space of the

random experiment are equi-probahle.

Q23, State the law of multiplication of prebability for two events A and B. Write the law multiplicativa of probubility if these two events are
independent. . .

Ans. If event A and B are in sample space U then,

P(A B)=P(B/A)- P(A} OR

P(A B)=P{A/B}- P(B)

If events A and B are independent event then

P{A B)= P(A)- P(B) ' :

Q26. Define discrete random variable.
Ans.: A random variable X, which is capable of taking any real value of set R or its subset is called a discrete random variable. =

Q27. State the relation between the probability of success and failare in Bernoulli trials.
Ans. : In Bernoulli trials ggrecess and failure are mutually exclusive and exhaustive events.
Thereforep+q=1andg=1-p

Q28. State the relation between mean and variance of binomial distribution.
Ans. In binomial distribution value of mean is alwaysgreater than its variance.
Henee, np> npq OR npq < np.

Q29. How is normal curve drawn? _ :
Ans: A curve drawn by considering different values of nermal random variable X and its respective values of probability density function f{x) is
called normal curve and it is completely bell shaped.

Q30. Find f(x) for the function f{x)=50
Ans.: Constant number is always '0". So, if function f(x)= 50, then £{x) = 0.

Q31. What are the stationary point of a function? Ans, The points where maximum of minimum values occure are known as stationary points.
The necessary condition to obtain a stationary value is f(x) = dy/dx = 0.

Q32. Define derivative? Lo M
h=o

Ans. Letf:A.Rand a A,/ where A is an open interval of R.

fn) -9
exists, then this limit of a function f is calted derivative at x=a. It is denoted by f(a). Thus, f (( q) = o,fm K ‘g (Q+ h) 4? ( )

Q33. Explain marginal cost and give its formula. 'h e
Ans. The change in cost due to small change in production is called matrginal cost. Marginal cost can be obtained by taking the derivative cost
function with respect to x. Thus, when the production is x then Marginal cost =de/dx

Q34. Define elasticity of demand.
Ans. The ratio of percentage change in the demand of a commodity dueé te percentage change in the Price is called elasticity of demand. ie.
Elasticity of demand =Percentage Change in Demand / Percentage Change in Price

Q35. What is the maximum value of function?
Ans. If h is a small positive number and if f(a) > f{a+h) and also f{a) > f(a-h) then f(x) is said to be maximum at x= a. Maximum value do not mean
largest value of funtion. The function is maximum of x = a. only means that the value of function is maximum in a small interval around x=a.

e
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